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Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O PPTRY Ted fia

(a) What is international trade?

H®eIGE Afey F 2

(b) What is inter-regional trade?
ey ey % 2
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(2)

(c) Write one assumption of Ricardian
theory of comparative cost.

Ry geamee aw oga @b ey fra |

(d) Mention one essential element of
Heckscher-Ohlin theory of inter-
national trade.

PR-N'R wwaEy e enR <ol
SRR B o |

(e) What is Leontief paradox?
st siigg & 0

() Define multinational enterprise.

IS STt Tse i |

(g9 Mention one merit of free trade.

1@ I 91 R4 Ty 790 |

(h) What is protectionism?
AFHRW 3 2

() Define flexible exchange rate.

RS Rt =<3 g fan |

() What is foreign exchange market?
CaeePre R <o & 2
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(3)

2. Answer the following questions : 2x5=10
o fran iR e fita

(a) Mention two differences between inter-
regional and international trade.

SR W WG M 16 sfeen Teaw
Sl

(b) Write two assumptions of Heckscher-
Ohlin theory of international trade.

@ER-IFR AREgy fher SgoR 1ol

HfSYRe Teay 4 |

(c) What is international product cycle
theory?
e SeoAe b OGOl 3 2

(d) Mention two causes for the downfall of
Bretton Woods system.

@57 TGS AT #feq K51 IR TeHy 0 |

(e) What is financial globalization.

@ AP 7
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(4)

3. Answer any four of the following questions :
5x4=20

TR oA R @i st Tea fa

(a) What are the reasons for international
trade? Explain.

ST TR FRIR 2 IR0 7901

(b) Discuss the importance of Ricardian
theory of comparative cost in developing
countries.

T (re R P W ©qeN
GG AT 1 |

(c) Briefly explain the localization theory of
international trade.

RICEUCE I S TS (RIS R e B 2 ()
SCABAT $A1 |

(d) Distinguish between free trade and
protection.

T& A9 T @ I oo o
fAefy 341 |

(e) Distinguish between fixed and flexible
exchange rate.

1%«%W¥ﬂﬁﬁﬂfﬁ%mﬁﬂ¢awwﬁ<mﬂ¢1ﬁvn|
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(5)

Distinguish between tariff barriers and
non-tariff barriers,

R A W SRy oo e A4
fAefy <1 |

4. Answer any four of the following questions :

10x4=40

OO PPIRRE R 1o st Seq fiy -

(a)

(b)

24A/484

Explain the Ricardian comparative cost
theory of international trade. 10

e SRt AR somee aw wed
AT 3947 |

Discuss the superiority of Heckscher-
Ohlin theory over Ricardian theory of
international trade. Mention the
limitations of Heckscher-Ohlin theory.
5+5=10

fTera wEifes Afte oo @R-wRE
TGOR Pl I 41| (- R
CGHR SmerTIz TrEy o4 |

State and explain the technological gap
model of international trade. 10

o e eyfEfue o ogn T
1 F AR A |
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(6)

(d) Critically discuss the product-cycle

theory of international trade. 10
wEEfes qfEE S O TGO
ARSI HCE] 90| ‘

() Compare the effectiveness of tariff
and quota as a weapon of trade
restrictions. 10

e fmger sk ot % o AR
AR FagE Ir@Iie o 39

() Analyze the effects of tariffs in a partial
equilibrium system. 10

SR ST IES Y JOR 0T 31 |

(99 How was equilibrium exchange rate
determined under gold standard?
Mention the reasons for the collapse of
the gold standard. 5+5=10

TS s et R 29 @
PffRe afe? FfM IMTR TR TP
TCEY 90
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(7))

(h) Discuss the main reasons for the
international financial crisis. What are
the various effects of international

financial crisis? 5+5=10

WEHOT R8I MBI Fo1 FRPHR SN
| wREfes Ry Fiee [fen doremz

R

* % %
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